KBAAPATHE HEJEJHAYNHE

--- domahu 3a0amakx ---
PewnTtn HejegHaumHe:
1. 2. 3.
1 21 x* +4x—18 ) x*—1 .

x2—5x+6 2 5—x = x2+x+1<

x € [1,2) U (3,4] x € (—o0,—4] U [2,5) x € (=2, +00)
4 5. 6.

—x%+2x—16 3 x2—3x+2> —x2+2x—3<3
x—6 - x2+3x+2 " x2—4x+3

x € (—o0,—2) U (—1,0]

x € (—oo0,—2] U [1,6) X € (=, 1) U (% 2) U (3,4+x)

7.
2x% +x—13 o1
x2—2x-3

8.

(x -5 )2 o1
2x —3
€ (=2 3) U (3 8)
x '2)7\2'3
9. PewwnTn HejeaHaunHe y CKyny Lenmnx 6pojesa:
a)
15 51
—x2+3x+4
x €{0,1,2,3}
6)
x?—4 -0
4x — x?
x € {—1,3}

B)
x%—6x—16 <0
x2 —12x + 11
x € {—1,0,9,10}
r)
x24+2x+1
x2+2x—3
x € {-3,1}



